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QUESTION 1

Refer to the exhibit 

The vSphere administrator attempts to connect to an ESXi host via an SSH client and receives the following security
alert: 

The vSphere administrator needs to determine whether the RSA key fingerprint shown in the security alert is the
fingerprint of the intended ESXi host. 

Which tool should the vSphere administrator use? 

A. Direct Console User Interface 

B. vSphere Client 

C. vSphere Web Client 
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D. vSphere Management Assistant 

Correct Answer: A 

 

QUESTION 2

Refer to the Exhibit. 

An administrator finds that users are unable to connect to the virtual machine at IP address 192.168.1.20 over port 22. 

Based on the exhibit, what should the administrator do to resolve the problem? 

A. Change the Translated Port from 22 to any. 

B. Change the Protocol from SSH to any. 

C. Create a DNAT rule with IP 192.168.1.20 and port 22 to pass traffic. 

D. Create a SNAT rule with IP 192.168.1.20 and port 22 to pass traffic. 

Correct Answer: C 
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QUESTION 3

An administrator determines that a vSphere Standard Switch is dropping all inbound frames to a specific virtual
machine. The behavior appeared in the last two days. Which configuration was likely changed in the last two days? 

A. MAC address changes 

B. Forged Transmit 

C. Traffic Shaping 

D. Jumbo Frames 

Correct Answer: A 

 

QUESTION 4

An administrator needs to change the network a virtual machine will attach to. The virtual machine is deployed using
vCloud Automation Center, but when the administrator attempts to modify the configuration, the requested network is
not displayed. 

Why is the network unavailable in the interface? 

A. It is unavailable in the Provisioning Group. 

B. It is unavailable in the Reservation. 

C. It is unavailable in the Blueprint. 

D. It is unavailable in the Build Profile. 

Correct Answer: B 

 

QUESTION 5

An administrator needs to create a two-node virtual machine cluster in a vSphere environment that uses a Fibre
Channel SAN. The clustering software does not have a SCSI target or a SCSI command pass-through requirement. 

Which VMware storage type should the administrator use? 

A. Physical RDM 

B. VMFS 

C. Virtual RDM 

D. NFS 

Correct Answer: B 

 

QUESTION 6
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When a vSphere administrator attempts to remediate a host with Update Manager, the host is unable to enter
maintenance mode. 

Which condition is likely preventing the host from entering maintenance mode? 

A. A virtual machine on the host has a removable device connected. 

B. A virtual machine on the host is configured to use Fault Tolerance. 

C. A virtual machine is powered off and cannot be migrated to another host. 

D. A virtual machine is configured with a local .vswp file. 

Correct Answer: A 

 

QUESTION 7

An administrator needs to limit CPU resources for a vCloud Automation Center Business Group. What should the
administrator do? 

A. Create a Reservation that includes a vSphere Resource Pool that limits CPU utilization. 

B. Create a Reservation and specify CPU limits in the This Reservation field. 

C. Create a Reservation and specify a Reservation Policy that limits CPU utilization. 

D. Create a Reservation that enables Alerts based on CPU utilization. 

Correct Answer: A 

 

QUESTION 8

Which two Network Profiles could an administrator create to ensure every machine can access the external network and
is also accessible from the external network? (Choose two.) 

A. NAT Network Profile 

B. Private Network Profile 

C. Routed Network Profile 

D. External Network Profile 

Correct Answer: AC 

 

QUESTION 9

What could cause an upgrade of the IaaS components to fail? 

A. The vCloud Automation Center Service Manager Service is running. 
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B. The vCloud Automation Center Agent Service is running. 

C. The vCloud Automation Center Service Manager Service is not running. 

D. The vCloud Automation Center Agent Service is not running. 

Correct Answer: A 

 

QUESTION 10

Under what circumstance would a logical switch be automatically created? 

A. When deploying a blueprint that requires isolation. 

B. When deploying a blueprint that utilizes load balancing. 

C. When deploying a multi-machine blueprint. 

D. When deploying a blueprint that requires NAT. 

Correct Answer: C 

 

QUESTION 11

Which three Advanced Service Endpoints are available for vCloud Automation Center? (Choose three.) 

A. Active Directory 

B. HTTP-REST 

C. SOAP 

D. Puppet 

E. Chef 

Correct Answer: ABC 

 

QUESTION 12

Senior IT leadership wants information to help determine workload placement and tradeoffs between 

buying new hardware or using a public cloud provider. 

What VMware product provides that information? 

A. IT Business Management 

B. vCenter Chargeback 

C. vCenter Configuration Manager 
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D. vCenter Operations Manager 

Correct Answer: A 

 

QUESTION 13

Where must the license for NSX be added in order to use it in vCloud Suite? 

A. vShield Manager 

B. vCenter Server 

C. vCloud Automation Center web console 

D. NSX Controller Cluster 

Correct Answer: B 

 

QUESTION 14

An administrator deploys vCenter Operations Manager for an environment consisting of 5,200 virtual machines. The
appliance begins collecting data from the environment. 

A week after deployment, when the administrator tries to connect to the user interface, a 404 error is displayed. 

What is the most probable cause for the error? 

A. The UI virtual machine is out of memory. 

B. The UI virtual machine is out of disk space. 

C. The Analytics virtual machine is out of memory. 

D. The Analytics virtual machine is out of disk space. 

Correct Answer: D 

 

QUESTION 15

An administrator needs to create property definitions in the Property Dictionary. After clicking on Blueprints under the
Infrastructure tab, the administrator notices that the Property Dictionary menu isn\\'t visible. 

What is the issue? 

A. The administrator doesn\\'t have the Fabric Administrator role assigned. 

B. The administrator doesn\\'t have the Tenant Administrator role assigned. 

C. The Property Dictionary is located under the Administration Tab. 

D. The Property Dictionary is located in the Instance Types menu under the Infrastructure Tab. 
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Correct Answer: A 
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